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Missing numbers
Sheet 1

Complete the missing numbers.

8 +
18 +

28 +

38 +

900w

23 +
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33 +

43 +
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53 +

31+9

41 +9
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51+9
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900w

61+9 = +5 =70
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Missing numbers

Sheet 3 (continued)
Story 4
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| can see O bead:s. To match this story | write this number sentence:

The next multiple of 10 is To make it | need O more. ( )

Story 5
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I can see O bead:s. To match this story | write this number sentence:

more. ( )
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The next multiple of 10 is To make it | need

Story 6

| can see bead:s. To match this story | write this number sentence:

more. ( )

For each story, write the pair to 10 used to solve the problem.

The next multiple of 10 is To make it | need
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Challenge

Story 1 + Story 2

Story 4 + Story 5 +
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